HiZH0st Creo Parametric 4.0 & SolidWorks 2016 £3 Creo Parametric 2.0 & SolidWorks 2014
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Ans 35865.51 70.567 143059.9 70.1075 80.7648
Creo Parametric 4.0 & SolidWorks 2016
Tol 3.1 0.7 2 0.8 0.0081
408
Ans 35865.51 70.567 143059.9 70.1075 80.7648
Creo Parametric 2.0 & SolidWorks 2014
Tol 3.1 0.0071 2 0.0071 0.0081
Ans 115075 21.2047 735313 20.981 134.3725
Creo Parametric 4.0 & SolidWorks 2016
Tol 11.1 0.0061 5 0.0061 0.011
501
Ans 115075 21.2047 735284.1 20.981 134.3725
Creo Parametric 2.0 & SolidWorks 2014
Tol 11.1 0.0061 31 0.0061 0.011
Ans 32774.75 -89.3008 163234.9 -22.2723 37410.21
Creo Parametric 4.0 & SolidWorks 2016
Tol 3.1 0.0081 2 5.1 3.1
504
Ans 32774.75 -89.3008 163234.9 -22.2723 37410.21
Creo Parametric 2.0 & SolidWorks 2014
Tol 3.1 0.0081 2 0.0021 3.1




